EEZ2Z28

5

USE '}'@fu‘ﬁ. Rmc.'f{l-‘.-‘--ﬂ P C e {r_'n.f l’-:-?zyl'" '?LD )C.Mc;’(

S. 937 s+2)
Vx -

ErEaS L4eTs+ 2 6667)
- " Fooc ke [coletor o pmaf
Ufe 'E"r-;(\ﬁm() Lpag e O el € o

Y silyg = & FXEF
V o ~4
"x" —

S 5 i+ 2 LEETSF 2 €€ 7

Camﬂfﬂ'f@ (e Sguare

F EEEF VL > e 7y <
s24 zeecrs + =T = ( —= S

( S+ 1.333)% + (. s47)*
j-'l-ﬁc-'-'{'e_"r-. a-utbr Tc—..»i"fg

- Y5 - ST 33 (5 + L233)

= My

wy 7

—_ ra

(SHL23D2 L(avq)?

Solvtcon 6. 2. Ps# &
Mbe:ﬁ’-'ti EC{-HM‘-&{JH
| Ly
VY i < V}( V;(
-é‘ -+ = O
< T

b=V,

+
(S+13273)% £%9Y7) ‘ (534727 ) E

Efztm‘fu L-fuﬂwe;ﬁﬁ‘zﬁ‘ fﬂc;cn‘t’t‘r-:-u-é'

5 —y N = A
§Y — =§5.733 = [LFPIF e, P F ey
el tar, = O
b 2 2 y (s+1 757)
Vi ($) = = (541 772)%+ CTY5) T
S W g i o
G (6y 2 Hdult) - 4

- Ye cos (»Fyz € )w(F)

L (av2)®




